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1 |deiEE 9.0E+2 896.0
2 | BEHRER 9.6E+2 955.0
3 |5FE 2.8E+2 2845
4 [EHE 1.8E+2 178.5
5 |HEER 1.5E+2 1455
6 |WEE 1.1E+2 105.5
7 |EBE 6.8E+1 68.0
8 |RHE 2.9E+3 2,850.0
9 [HARE 2 8E+2 280.5
10 [BEER 4.7E+2 466.5
11 |BER 6.8E+2 675.0
12 | FE& 2.6E+3 2,557.5
13 |BEE 7.8E+1 78.0
14 |[ERNE 5.0E+2 501.0
15 |FiRg 1.2E+2 117.0
16 |EWE 5.7E+1 57.0
17 |BINE 9.4E+1 935
18 |f@FR 2 4E+1 24.0
19 |WRE 7.5E+0 75
20 |EHR 1.3E+2 131.0
21 |IFRE 1.7E+2 174.5
22 |FEER 3.5E+2 348.5
23 | EHME 2.2E+2 222.0
24 |ZEE 6.3E+1 62.5
25 |#ER 4.7E+1 46.5
26 |FABAT 2 0E+1 20.0
27 | XBRAF 2 5E+1 245
28 | EER 8.8E+1 87.5
29 |Z=RE 1.9E+1 18.5
30 |[FnEmLE 7.0E+1 69.5
31 |BRE 5 4E+1 54.0
32 |BRE 1.7E+1 16.5
33 |EWLE 2.0E+1 20.0
34 |[LER 5 7E+1 56.5
35 |lLOg 2.2E+1 21.5
36 |EESR 1.2E+2 116.0
37 |BNIIE 3.1E+1 31.0
38 |ERE 1.1E+1 11.0
39 |=4E 2 AE+2 239.0
40 |t&fEE 2.2E+2 215.0
41 [EER 7.3E+1 72.5
42 |RIBE 3.1E+2 3125
43 |EERE 4 4E+2 435.0
44 | K7 R 5.3E+1 53.0
45 | BIBE 41E+2 412.0
46 [BRIRSE 6.6E+2 657.5
47 _LFigE 8.0E+0 8.0

e 1.4E+4 14,2765
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